Section A

Event Name Tuesday Eve Session April 5, 2022
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Score Pair
33.00 A-7
26.00 A-6
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Average: 24.0

Don Emond - Diane Emond
Lorraine Hoyt - Rosalie Demers
Tip Evans - Pat Wiens

Nick Smart - Dick Smith

Darwin Wreggitt - Jan Ogilvy
Ruth Whitney - Cheryl Smith

Ken Schick - Chris Hemmings
Kathy Luxemburger - Lene Nielsen

Brenda Morrison - Marlene Walde



FVENT>Fwvent Name | SESSTON>Tunesdav Fwve | SECTTON> A

DATE>ApTil 5. 2090 | CT.UR NO.> | 04/05/2022 21:36
pTR> |RATTNG> |MOVEMENT>ONF. WTNNFER
AVE>  24.0 |[TOP> 3 | CTUR>Whitehorse Bridae
PATRS> O P P R ]
————————————————————————————————————————————————— I C'alll Section | |
No Name Name | Rank| Rank|Score | Pah |
1 Ruth Whitney Cheryl Smith 23.50 48.9%¢
2 Kathy Luxemburger Lene Nielsen 19,00 39.58
3 Tip Evans Pat Wiens 3 3 25.50 53.13
5 Darwin Wreggitt Jan Ogilwvy 24.50 51.04
6 Lorraine Hoyt Rosalie Demers 2 2 26.00 54.17
7 Don Emond Diane Emond 1 1 33.00 68.75
8 Nick Smart Dick Smith 4 4 25:00 S2.08
9 Brenda Morrison Marlene Walde 16.50 34.38
10 Ken Schieck Chris Hemmings 23.090 47.92
Totals 216.00
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